





For Question numbers 13 10 16 two stat
em

and the other labelled R
eason
the codes (a) , (b), (c) (R) . Select t

ents are given
= One lab

he correct a .“.d k“.n

and (d) , as g'ven below : ns ‘on (A

b 2 a B
Y a. Oth Asser )
. riion (A) and Reason (R) are correct statem
; Bonect explanation of the Assertion (A) S8+ and Reason () in.
. Both Ass i e
sertion (A) and Reason (R) are correct statemeny
: the correct explanation of the Assertion (A). e PR Paaon (R) b

i H .
T \;./Assert!on (A) Is Correct but Reason (R) is incorrect state

7 Assertion (A} is incorrect but Reason (R ) is correct stat ment.

- - Al

13. Assertion (A) : Molarity does have unit, thatis , mollL-1 ement.

Reason (R) : Molarity does not change with temperature
aAssertion (A) 4t orbital is filled before 3¢ orbital

Reason (R); Orbitails are filled with electrons according 1o Autbau's pr
\1./5. Assertion (A) : lonic radius of Na+ is smaller than Na -
Reason (R): Effective nuclear charge of Na+ is higher than Na
16. Assertion (A) : In HF oxidation state of F is -1
Reason (R): F being most electronegative will show -1 oxidation state in its compound

Section B

17. Bromine has two naturally occurring isotopes .One of them "*Br has a mass of 78 9y
and an abundance of 50.5%. Calculate atomic mass of other isotope , that is “@¢.
Average atomic mass of Bris 79.9 g mol™.

18. With the help of molecular orbital theory , show that N; molecule has a triple bond
and O, molecule has a double bond.

19. The threshold frequency for a metal is 7.0 x 10 " s, Calculate the Kinatic energy of
an electron emitted when radiation Of frequency 1.0 x 10 '*s” hits the metal.

@ Balance the following ionic equation.
& > = 3+
Cr.0, + M #1 T +1, + H,0

@The first and second ionization enthalpies and the electron gain enthalpy, all in k
mol”, of the three elements are given below : o

Element AiH: AH2 DegH it
| 419 -1 3051 -A8 JE®
1 1681 3374 -328 e
I 1008 1846 -295 e

Which of the above elements is likely 10 be:
a. The most reactive metal Sl 0o A !

b. The most reactive non metal Bl |
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Section C

HCL containg 45% HCL by mMass

27, Commaert (;;(i/;./;llw.ﬁ,H cong
vl | 1 Qag/m
What is the molarity of this solution 7 The density I8 19 g/mi
~ " AC\7?
b. What volume of conc, HC required to make 1,001 of 0.24 M HCI
23 An atom of an elemaent containg 24 electront and 28 noutrons Deduce
Wiguration of

number of protons , number of nucleons and write the electronic ¢«

ne element

i State Hund’'s rule
24 3 Show that the circumference of the Bohr orbit for the »1;\?6&91* atlom is ar "::-; &
nultiple of the de Broglie wavelength associated with the electron revolving
around the orbit
nd and m for

An electron is in one of the 5f orbitals . Give the possible values ot n

: this electron
P 1
<2/Glive reason for the following:
a. Electron gain enthalpy of fluorine is less negative than that of chlorine
B. Anionic radius is always more than that of neutral atom.
lonization enthalpy of phosphorus is more than that of Sulphur.
z diggram to show the formation of o and it bonds in ethyne molecule

C\‘)j{ Draw z diag
" Bond angle in dimethyl ether , having molecular formula , CHs - O = CH. is more

than in H,0 . Justify.

I
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67/;/ Both NH- and NF; molecules are pyramidal in shape and have one lone pair of
electrons each, but dipole moment of NHs is more than that of NFs. Explain.

(;{ Write the Lewis structure of NO; molecule and calculate the formal charge on
3 nitrogen atom .

éjﬁe’ Give one example of disproportionation reaction.
@Adentify the oxidizing and reducing agent in the following reaction:

MnO; + 4HCL =» MnCl; + Cl, + 2H,0
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Section E

o

\ 2\
(A (B8
(i) Name the type of H - bond ng present in (A) and (R

(11) Which of the above two compounds will show h

@) A_r,-‘gng() :f\(\ f\’“(‘\e\':‘,){ bonds in o der of increas g on
support your answet
N-H , F-H , C-H and O-H

d. Write the shapes associated with sp°d and dsp® hybri ordtes.

\ Write the general electronic mmm of ’1"' mm

b Electron gain enthalpy values of inert MNMW’

c. Arrange the following species in Wm of Sive.
O* F,Mg*, Na', N*

d. Why the number of elements in first period is onty twe?®

N

M
("

m
\sy

e. Predict formula of stable binary compound that Woutd be foraved By the ghvee oo

of elements : element with atomic ho. 56 and oxygen

V, 0, F Ne ™

M



